[08] WAt A—~EGE

X2 Tsil FABBAN)
NAtri— 506
NAt 23 —Hi 88
5 1R 5 Al 43
& AT El 183
RehA 90
=1L 246
ZHET 588
ftt P9 35
= RHT 149
EETE = DT 79
RIRET—T B 97
T BE&ARF 162
i far BT 80
F N ET 113
EMRAETT 109
EHBTER 58
WY AT 116
AMEEFR 42
A7z & B T —Hi 1
i S T 17
W/ T 94
W/ TEE B ET 87
RILHE 46
Jb ZEET 137
ME—-TH 46
BILET—T B 141
HILET=TH 54
B P25 9 e A 417

20144 8H

(%)

100
90
80
70
60
50
40
30
20
10

0

3R BIRERE

79.1

z

CO0O0000000
oRNWRUION©

0.6

FRAEHEIS

27%

73%

Nt i—~ AMAEESLT—H]
ER B T ~ R A s Al

-1/1-




